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BEARRE £ F034F i B8 P BR (R B /K S RO BR (— 1 4m) R SUE B (5 22R)

% # s - Tk B H OB B & # =
HEATE 23,506, 044
BMRIEEEH 23,506, 044
BMRIEEEH 23,506, 044
HEEE 23,269, 644
FEER 496, 570
1 BEERE 1.00 496, 570 496, 570
=%
HEEE 17,073, 358
2 EfE - BE 1.00 736, 757 736, 757
|
3 HRIFEEW —RFEE-@HRA 63. 20 42,906 2,711,659
km
4 WEZFEE Q) —RIFEE - FARA 259. 20 47,673 12, 356, 841
km
b KIFEQ) BREE - FAME 26. 60 47,673 1,268, 101
km
4R 5,699, 716
6 BRI 191. 60 29, 748 5,699, 716
km
HERE 236, 400
HE 200, 000
T £BHER 1.00 200, 000 200, 000
=%
Z 0t 36, 400
8 MEIRERE E-AYUTHRE 1.00 36, 400 36, 400
=%




iEx < F134F FE R PO BB (R SRR St BRORAL BB (—1 4m) B AR (20
% g i - AKSTiE B 2 B i & & w ZE

EERAEE 14, 489, 354
R 14,489,354 x 63.6% — 4,583 9,210, 646
HEEHBE 14,489,354 + 9,210, 646 23,700, 000
E R 8,816,690 + 200, 000 9,016, 690
EEAGE 8,816, 690
EEEE 200, 000
T DAt R i 8,816,690 x 53.85% ( 35% =+ (1 — 35%) ) 4,741,781
BRI 9,016,690 + 4,747,787 13,764,477
—REEES 13,764,477 x 53.85% (35% = (1 — 35%) ) — 6,647 7,405,523
B ERE 13,764,477 + 7,405,523 21,170, 000
e LT 23,700,000 + 21,170, 000 44,870, 000
HBETEMALE 44,870,000 x 10.00% 4,487,000
HIREXH (IR R 44,870,000 + 4,487,000 49, 357, 000
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=1
2% - REER
£ 7 R - BAKTiE By B = B O{f € W E B &

F{EHED (55

A 2.50 57, 400. 00 143, 500
HEm (A)

A 2.50 51, 200. 00 128, 000
HER (B)

A 2.00 40, 600. 00 81, 200
B S HER

A 2.00 40, 000. 00 80, 000
B = H AR

A 2.00 30, 700. 00 61, 400
AR L NOY

% 0.50 494, 100. 00 2,470
= 5 1E%HeH - 1.00K 496, 570. 00 496, 570
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134 2 B PIAR BR (R BRVKE H RO BB (- 14m) B SR E(F2R)

&S :2
B - EfE - B Ik ED)
£ 7 R - BAKTiE By = B O{f | W E B &
REE S4 kY 2L
B 2.00 3,067.00 6,1342.00H / 8H
MSIEERAR HMRMEERIEEa L, HIE28. RS
B 1.00 23,925. 00 23,925
EIEE D 200PSEY
B 0.50 164, 050. 00 82,025/6.00H / 8H
AEEMR FRP
B 1.50 56, 760. 00 85, 140 8H
FEHED (55
A 1.50 57, 400. 00 86, 100
HEm (A)
A 2.25 51, 200. 00 115, 200
HER (B)
A 1.75 40, 600. 00 71,050
B S HER
A 1.00 40, 000. 00 40, 000
B = H AR
A 1.00 30, 700. 00 30, 700
BIEBF
A 3.00 29, 600. 00 88, 800
BIEHEE
A 3.00 24, 200. 00 72, 600
AR ELNOY
% 5.00 701, 674. 00 35, 083
= 5 1YE%HEH - 1.0048 736, 757. 00 736, 757
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&S :3
B BESEEN) —XiFEE-@mAR 1B&HY (14km)
£ 7 R - BAKTiE By = B O{f € W E B &
REE S4 kY 2L
B 1.00 3,067.00 3,067/2.00H / 8H
EIEE D 200PSEY
B 1.00 164, 050. 00 164, 050 6. 00H / 8H
AEEMR FRP
B 1.00 56, 760. 00 56, 760 8H
MSIEERAR HMERMEETRIEEa L, HIE28. 5
B 1.00 23,925. 00 23,925
GNSS;BIf 2 & DGNSS
B 1.00 18, 150. 00 18, 150
BRI 15m  100kHz
B 1.00 9, 256. 50 9, 256
F{EHED (55
A 1.00 57, 400. 00 57,400
HEn (A)
A 1.00 51, 200. 00 51,200
HER (B)
A 1.00 40, 600. 00 40, 600
B S HER
A 2.00 40, 000. 00 80, 000
B = H AR
A 1.00 30, 700. 00 30, 700
BIEBF
A 1.00 29, 600. 00 29, 600
BIEHEE
A 1.00 24, 200. 00 24,200
AR =LY
% 2.00 588, 908. 00 11,718
= 5 YEEREN 1400k m 42,906. 00 600, 686
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134 2 B PIAR BR (R BRVKE H RO BB (- 14m) B SR E(F2R)

£2 .4
&% BMEREEQ —XEZEE-HFAR 1H%Y (12.6km)
£ i R - TR~k B {5 g B & 4 = " &=
REE SA4 kR 2L
=] 1.00 3,067.00 3,067/2.00H / 8H
EHED D 200PSE!
=] 1.00 164, 050. 00 164, 050 6. 00H / 8H
EELM FRP
=] 1.00 56, 760. 00 56, 760 8H
MSIEERS MSIEEREED L. BIES. 2ES
=] 1.00 23, 925. 00 23,925
GNSS:RIf 3 & DGNSS
=] 1.00 18, 150. 00 18, 150
BRI 1AM®  100kHz
=] 1.00 9, 256. 50 9, 256
EEHEM (GRED
A 1.00 57, 400. 00 57, 400
HEm (A)
A 1.00 51, 200. 00 51,200
HEm (B)
A 1.00 40, 600. 00 40, 600
B S HER
A 2.00 40, 000. 00 80, 000
RIS R
A 1.00 30, 700. 00 30, 700
BIEBNF
A 1.00 29, 600. 00 29, 600
BIEWEE
A 1.00 24, 200. 00 24,200
MR =730
% 2.00 588, 908. 00 11,778
A& F EEREN : 12.60k m 47,673.00 600, 686
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EE =)
B BMSEEQ) HREE-FAR 1B%HY (12.6km)
£ 7 R - BAKTiE By = B O{f € W E B &
REE S4 kY 2L
B 1.00 3,067.00 3,067/2.00H / 8H
EIEE D 200PSEY
B 1.00 164, 050. 00 164, 050 6. 00H / 8H
AEEMR FRP
B 1.00 56, 760. 00 56, 760 8H
MSIEERAR HMERMEETRIEEa L, HIE28. 5
B 1.00 23,925. 00 23,925
GNSS;BIf 2 & DGNSS
B 1.00 18, 150. 00 18, 150
BRI 15m  100kHz
B 1.00 9, 256. 50 9, 256
F{EHED (55
A 1.00 57, 400. 00 57,400
HEn (A)
A 1.00 51, 200. 00 51,200
HER (B)
A 1.00 40, 600. 00 40, 600
B S HER
A 2.00 40, 000. 00 80, 000
B = H AR
A 1.00 30, 700. 00 30, 700
BIEBF
A 1.00 29, 600. 00 29, 600
BIEHEE
A 1.00 24, 200. 00 24,200
AR =LY
% 2.00 588, 908. 00 11,718
= 5 YEEREN : 12.60km 47,673.00 600, 686
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&S :6
2 . BREN 100k m& Y
£ 7 R - BARTiE BAGL 2 B O{f | 1 B &
F{EHED (55
A 12.00 57, 400. 00 688, 800
HEm (A)
A 16. 00 51, 200. 00 819, 200
e (B)
A 16. 00 40, 600. 00 649, 600
B S HER
A 8.00 40, 000. 00 320, 000
B = H AR
A 8.00 30, 700. 00 245, 600
BIEBF
A 8.00 29, 600. 00 236, 800
AR =LY
% 0.50 2,960, 000. 00 14, 800
= 5 YEZERES  100.00k m 29, 748. 00 2,974,800
&5 .17
B EBBRR =1
£ 7 R - BIRTiE BAGL 2 B Of | # B &
XBRRRE
= 1.00 200, 000. 00 200, 000
= it 1E%HeH - 1.00K 200, 000. 00 200, 000
%5 :8
&% BIEREHRE T-4UIRE 1XEY
£ 7 R - BIRTiE BAGL 2 B Of | 1 B &
ZOMiEE
= 1.00 36, 400. 00 36, 400
= it 1E%HeH - 1.00K 36, 400. 00 36, 400




